Biochemistry CA3

1. IDDM

a) synthesises glucose form fatty acids

b) synthesises glucose from muscle glycogen

c) synthesises glucose from skeletal muscle protein

d) synthesises fatty acids from glucose

e) synthesises glucose form ketone bodies

2. Rats fed a fat-free diet from birth would be deficient in

a) TAG

b) Cholesterol

c) Palmitic acid

d) Oleic acid

e) Linoleic acid

3. Warfarin is an anticoagulant used in the treatment of deep vein thrombosis. The least likely mode of biotransformation is

a) aromatic hydroxylation by cytochrome P450 pathway

b) sulfate conjugation 

c) glucuronide conjugation

d) glutathione conjugation

e) glycine conjugation

4. Aromatic hydroxylation of drugs by mono oxygenase does no involve

a) NADPH

b) NADP

c) Molecular oxygen

d) Cytochrome P450 reductase

e) Cytochrome P450

5. Which of the following occurs in cardiac muscle but not in the brain, even during fasting?

a) uptake of glucose

b) breakdown of fatty acids

c) conversion of glucose to glucose-6-phosphate

d) glycolysis

e) TCA cycle

